\ S ;902/2! NS \ g -

ol N ®1m<.u~~3(;-;;wa;‘:-f§:) e NS
== \r— | 4. ©® ;< et e N -
7 ﬁf A \‘\\ Nl 5—K 1"' B X F/a IR EtE X
' 3z Sty - ol e
) WA
H A A

7
{
k

)

) R "‘\\ =
e ‘ < 2/ T
; \\\ k \ > = " \ 5
\\ N - %
__\J\ )

5 N\ . ) \\
*\.‘I \ ) - \\ \
= y ! N\ .
b \ . - o
N \ | 1037A
AN\ /

S |R6 BLKEREXHRETE

| AN

f e’ @ %;@ |35 & L=480m (3.6)

[
{ f
\

i

= o |
; @ [ i

5'@% poly
ga @ ;
) ® - wlss A7%
1024 1
B @A ( \
B¢, 4

A1-28 8 L=143.0m (3.6)

#1a % !
o BB L
[ al \? — Y]
I\‘—\"F' (

EO 7 13,®

oS
0 Ata— ST S A o)
4



B REES N R
%,
EBEHER 10-12 6/ L=78.0m o . Q | A (|
M
L=78.0 m o aQ al A ﬁm /) /N
W=3.60 m '
Q
= = x| & | B B[ 8 |8 | B | M| DK
B # 6.2 % e : =
Biaa o U— FUREE \ < = § = R ® #
Rl 9.0 % 3004 L=6.0m €
Iy .
5
A
Q
Q
1.3
oM OE MR \ r
A o
1P.NO D 1 T R L sL oL B ne EC 1P NEHO w
R IYPE] &
BP [ - . e n [ [ [ [ [ [ m | BP=0.0
1 9.7 | 117.02 | 62.58 12 | 7.8 | 21 | 13.2 | -89 | 27 | 9.3 3.4 &
2 26.4 | 255.26 75.26 | 12 | 9.3 | 8.2 | 15.8 | 19.0 | 26.9 | 34.8 | 28.4
3 16.7 | 241.24 61.24 | 12 | 7.1 | 2.0 | 12.9 | 35.1 | 41.5 | 41.9 | 42.2
4 17.0 | 241.45 61.45 12 7.2 2.0 | 12.9 | 50.6 [ 67.0 [ 63.5 | 57.8 A 10-15&f 0.0(8P) ~ 78.0(EP)
5 3.2 | 168.40 | 11.20 6 | 6.0 | 03| 11.9 | 85.6 | 9.5 | 97.5 | 0l.5| EP=18.0 B 10-1 H=700. 20 =
6 12.7 | 168.04 | 11.56 5 | 52 | 03 | 10.4 | 98.9 [104.2 |109.4 | 104.2 & T aERE /1
%) 29— FURIE
7 342 | 158.11 21.49 50 | 9.6 | 0.9 | 19.0 [126.7 |138.2 |147.8 | 138.4 40(@2:;6,:):“ FUEGE £ £ EAHFHEEE
8 31.5 | 141.43 | 38.17 30 | 104 | 1.8 | 20.0 |[159.2 | 169.3 |179.3 | 169.6
9 15.4 % RILHESHEIBR HRIF
8 R 1:200




2 W BIME REXR
WA EBWER
Z & =780 m
2ma W=3.60 m
11 %
ol
& 62 %
[
9.0 %
B
¥z [P

el (2.7)

EC2(34.8)

10-15 & A
L=78.0m
BT
B33 > 5 ) — FUZH)
02815
I EE]

300A L=6.0n r/’f&/

/

28 85 2% 88 & 2 8
gg £¢ gg 2% 2 e g
zi' 22 ii ii i i i § -1S&fF  0.0(BP)~78.0(EP)
N g & | # 5 1/1
i€ g % | EnanEREs
" \—\Lﬂ | RUKEREXHR HALE
R =12.00 R =60. 00
i R it 1:100 4




HIER

0.20 3.60~5.85
HEER HIRYLIE
3 3.00 0.0~2.25 3
¢ o
LEA AV ‘ [s3/ L3
O

BEBET t=10cm

10-1S &/

B 4 # % B/ 1/1
£ % ERHHEEE

& BUMREREXR HEIE
8 R 1:50




HEERILOR ()

0.0(%)
R=12

DL=710. 00

DL=710. 00

2,701

‘ LsY=0.5
[
i

3= 0.8

AR
BEASET Y ) — FURAIHE400A L=6. 0n
FL—FUIE NI

0.0(8P)

EARIR ()

19, 0(862)

L(s3)=0.1

DL=712.00

9. 3(EC1)

DL=711. 00 LBN= 0.3

53=0.4
BA= 0.7

L= 2.5

HEERGE ()

DL=713. 00

DL=712. 00

26,9 (NC2)

L= 1.4

L= 0.1

L= 2.6

10-15&Ar  0.0~26.9(NC2)
=3 o = 1/3
E 4 |ENHMEEE
% M| RILMERENR REIE
#® R 1:100




AR ()

DL=713.00

DL=713. 00

LBN=0.2

35.1(BC3)

012

LE)=0.7

$3=10.2
BA= 0.8

34.8(EC2)

013

3= 0.2
BA= 0.9

EhIRHLIR (B)

DL=714. 00

DL=714. 00

LBY=0.5

41.5(Me3,

0.18

40,0

LBY=0.5

L= 0.7

BRRHLNE ()

DL=714. 00

DL=714. 00

L®N=2.1

50, 6 (BC4)

$3=0.3
BA= 0.3

41. 9 (EC3)

0.17

10-15&Ar

L($s3)= 0.5

34. 8 (EC2) ~50. 6 (BC4)

=3 o = 2/3
£ & |ERZREEE

% M| RILMERENR REIE

® R 1:100




BRRHLNE ()

60.0

L(83)=0.3 ‘ Ls3)=0.2

BTe00. —

3= 0.2
BA= 0.6

B
BEABED 2 1) — FUZBIA00A L=6.0n
TL=FUTE N6K

57. 0.(MC4)

L(S3)= 0.4

DL=716. 00

$3=10.2
BA= 0.5

T1.508)

__Rel2

dhRLEE ()

DL=717.00

L(S3)= 0.2

78.0 (EP)

0.03

63. 65 (EC4)

53 0.1
BA= 0.3

Lrsm0z —— 10-1B &/ 57.0(NC4) ~78. 0 (EP)
B &% | % M R 3/3
£ & |ERHHEES
2 | BUAEREXR RRIB
#® R | 1:100




FEE

s=1:100

25— hEEE
(5.28+5.25) x1/2

| TER
x1.0%2 =10.53 n2

LR
(5.08+5,05) x1/2x0,8x2 = 8,10 m2

aVHY—hk 10.53x0.15

B (5.28+1.00+1.00) X0, 152

FEE®
B OB &

EWBE  10.53x0.20

=1.58 m3
=22m
=8.1m
=105 n2
=211

SEAMT

EL=110.21

7 ]
e 12D
1.95 4.05
1,60 4.05
HERIER HEBER

EL=710.39

#5725 U — FUZBEE400A L=6.0n
JTL—FIE 6

E L F L 0.63x0.03x6.0
EHBE 0.63x0.30x6,0

13
L1313

_ BKIEEWMT

2.7(MC. 1)

=6 150 % 150

5=1:30

1000 G650 % 150

SEAHNTT

2.00

w

T

SEAnT

% &t L=20m

SEADTHE
1.2%0,6x2.0%x0.95 = 1.4 13
A=2, 40m2

E TR
@E 2.0x0.6x2
HE 0.6x1.2

HokEEMT (2.700C.1)

woE R 1/3

ERHHEEE

BUMREREXR HEIE

1:100




FEE

s=1:100

YY) — FEETER
(5.26+5.25) x1/2x 1,04 (5, 2945, 25) x1/2 1.0 =10,53 m2

® @ & H
(5.06+5, 05) x1/2 0, 84+ (5,09+5, 05) x 1/2x0, 8 = 8,10 m2

325 Y—h 10.53%0.15 =1.58 m3
2

(5.26+1,00+1,00+5, 29+1. 00+1,00) x 0. 15= 2.2 n2
BHER =8.1m
BB 4 =10.5 m2
E#EE 1053x0.20 =211

EL=715.56
AEAND

DL=725. 00

7 ]
50,0
1.95 4.05
1,60 4.05
HERIER HEABR

EL=715,68

#5725 U — FUZBEE300A L=6.0n
JTL—FIE 6

E L F L 0.52x0.03x6.0
EHRBE 0.52x0.30x6.0

09 13
.94 13

HkEEnT

60.0

$=1:30
Db 150 150 1000 520 1000 Db To0x 150
300
09 10 0o 1
{ 1 ee’ [1 )
El 12
E g
SEAHNTT
2.00
8# #@E15en m P
_E®H
SEADT Py
~~~~~~ &t =200 BE REER
SEAMTHE BE 2.0x0.6x2

A=2,

1.2%0,6x2.0%x0.95 = 1.4 13
40m2

#E 0.6x1.2

10-156&FT HkMEMT (60.0)

B 4 woE R 2/3
£ % ERHHEEE

& BUMREREXR HEIE
8 R 1:100




0.21 BaA T BETY LT
AEBEEHKIIZLR Rk %m fIEE —oon TER ME R

5 5
ASAT _HE s ) & : '
54 BIXE (L) BT BIEE (U 7Y MEET ANBEKT

7
o<
o

Jﬁ
0.07

0.10~0.12 0.1
0.10 0.10
LD S5 KR
I KRR b o e M inx fE2m (7ke/H0
FER 400% -
S
.21 <
§ Wi E 2
) 0.40 _ 0.50 0.40 o
30024 < Pun—ty
0.21 S E (9% 200mm)
% = HETY b
= A< o} o [o. imx B2 (7ke/H0
2003 e
2 S|
<
< g 7 g
° % =
- 0.50
BETHTRTKERKT H58EERITE
FER 7
] 8 8 ] 8 ——
s o] e,
= - = < +3
LT R
3 M EED (7ke/H)
S| 045 (69 200m)
2 S| e 2:1]
E 8
. P — o FUh—EY  $9x200m
2
; o D=10mm 10m4- Y HEBES
pie CEEl s - Tk oxE | ug | ma % =
8 WETY b | R0 M InxREMEMELAY [+13% | 113 | m | AERRIEY OAROREEH TR
o - Tuh—EY (9 200m) 630 | &
< N
S XY FOBRRELHS TIOCHEERRLTILEL, 10-1 2 &/
10m% Y P
Al s s wga] % B & wE = 3/3
< BELTOS| 0.6x0.4@FH | 100] & [HEFIE0.5x0.3x0.1n E 2 ERFHEEE
s i T | 0=10m L=0.46n | 400| & | 4KEER
PRt 180 ny [BERE % BUKERRRZR HRIE
0.21 fi& R 1:20




10-1S &

B % hotE = 1/1
£ % ERHFHEEE

& W RAHERHEXR  HRIE
® R 1:200




& M| RILKE REXR R fl
1 B EEER 0|, J q Q | A (|
10-28 68 L=65.0n
E E L=65.0 m :: @" ! a| A FFFH /) ; (
28 W=3.60 m a gﬁﬁ 5 xﬂiagf;wm: ﬁg; i
3 J— FUELI AR A ~% 1) — U -
8 & 1.9 % Soon L on T Soor o | X E Ré % ﬂ g g & E g )’3}% E
E} - . [ ; ’
B - H ~ E|f | |8 |& | |# |8 & 8| 7| R 2
el T2 % wla ||| ® E
L 8 98 % b
B
& g 30 m
~ (s
<& P “a
70 <&
A
BN 10-2 H=718.741,
A
A
OO OB B X
1p.NoO D 1 1A R i s oL BC e EC P NEMO
L R a
BP m o . . m m m m m m m m
1 9.7 | 117.02 | 62.58 12 | 7.8 | 21 | 13.2 | -39 | 2.7 | 9.3 3.4
2 26.4 | 255.26 75.26 | 12 | 9.3 | 3.2 | 158 | 19.0 | 26.9 | 34.8 | 28.4 1022
3 6.7 | 241.24 61.24 | 12 | 7.1 | 2.0 | 129 | 8.1 | 41.5 | 41.9 | 42.2 ~
4 17.0 41,45 61.45 12 7.2 2.0 | 12.9 | 50.6 | 57.0 | 63.5 57.8 2 10-25@&rr  115.0(BP) ~ 180.0(EP)
5 35.2 | 108.40 | 11.20 6 | 6.0 | 03 | 1.9 | 856 | 91.56 | 97.5 | 91.5 -
6 12.7 | 168.04 | 11.56 5 | 52 | 03 | 10.4 | 98.9 [104.2 |109.4 | 104.2 B A T aERE /1
1 342 | 15811 | 21.49 5 | 9.6 | 0.9 | 19.0 |128.7 |138.2 |147.8 | 138.4 BP=115.0 g % ERBHEES
8 315 443 | .17 30 | 104 | 1.8 | 20.0 | 159.2 |169.3 | 179.3 | 169.6
9 15.4 EP=180. 0 % % RUME REXR BRI
8 R 1:200




% ¥ BLHE REXR
10-25 @
EUTE L=65. 0m
il i 730..00
I R L65.0 n
& 7] s mkT e
il me e A4 7 5225 ) — FUEEE
] 300A L=5.0m
ES e % o
= — g
EN 12 % -
[ _ 3
# 9.8 % 12500 E //
B #6502 Y — MR b
® 0 m 3004 L=4.0n /

115.0

DL=715. 00|

o 2 @ 2 s 5 S
@ *\/ﬂsw—(gw_@ﬁ%‘—(g ok7 ;)
BH s = g2 2 R g
o g 3
3 =2 3 23 2 28 2 2R 8
FH A S g8 F g8 8
GH g 8 s 55 8 58 2 g% 3 10-25 A 115.0(8P) ~180. 0 (EP)
NI ] CEL I T = —
s g¢  deF 28 % & | EARHEER
¢ —— e — £ B | RUFEREXS HEIE
WE R %t 1:100 # 1:500




$=1:50
IR wiEg
3.60~4.35 0.68~1.25 3.60 0.20
B4RYL0E HiEiEg HifiiEg
0130 0,0~0,75 3.00 3 30 3.00 3
¢ ¢
L3 o 85 L83 ‘
> ¢ i o LBY
¥ o] 4
o s3 BA «l 53 2
,3‘0.5‘0.4 .3‘0.5‘0.4
EREET t=10cm PEHET +=10cm
KEUIH KEIH

10-25 &

] # % B/ 1/1
£ % ERHHEEE

% BUKE REXR BRI
8 R 1:50




1200

L®N= 0.2

DL=719. 00

115.0 (8P}

0.15

DL=719. 00 LE9= 08

e
FEAMED Y ) — FUERIH300A L=4. 0n
TL=FUI8

DL=721.00

DL=720. 00

138, 2 (NG7)

0.32

BA= 1.1

128. 7 (BCT)

0.27

LEN= 0.4

83= 2.1
BA= 1.3

DL=722. 00

DL=721. 00

L($3)= 1.6

147. 8 (ECT)

0.37

140.0

LBY=0.1

e

10-25 A/  115.0~147.8(ECT)
B % | % & ® 1/2
£ & |ENBHEEE
% B | AUHE REXR BAIS
® R 1:100




HERILAE ()

151.2(&)
R=30

DL=723. 00

DL=723.00

160.0

3= 1.0
BA= 0.8

169. 2 (BCS;

0.27

3= 1.0
BA= 0.7

L(83)= 0.8

EERITIE ()

DL=725. 00

DL=726. 00

LE3)= 1.5

L= 1.1

179, 3 (EG8)

-0.03

L= 0.2

169, 3 (NC8)

0.23

$3= 1.0
BA=0.7

BRRHLNE (&)

180.0 (%)
30

DL=725. 00

180. 0 (EP)

0.01

L(s3)=1.3

$3= 1.3
BA= 0.1
T

BEAEHET Y ) — FUZIEI00A L=5.0n

TL=FUTE NS

L= 0.1

10-25&Ar  159. 3(BC8) ~180. 0 (EP)
B % o = 2/2
£ 4 |ENHMEEE
4 M | BILKE BEXR RRIS
#® R 1:100




HkEEnT

115.0
FEE 7 ] 3 1
s=1:100 s=1:100 300K =50
1000 520 1000 Gobx 130xT50
300
1 1
r iUtz 4
12
50 RBE g
o
ven | BERE | o
1.92
) 1.80 EL=719.31
ERIER | BEaE Wiy bT
1.0mx2.0n Nelag
DL=719. 00 —=
™ -
- BELDS (FO)
8 25 U — FUZEEI00A L:4.0n B @ B BEOHEDR
55320 U— FURBIEI00A L=4.0n R
TL—FUTHE 4K £+0
E L5 L 0.52x0.03x4.0 =0.06 3
E®BE 0.52x0.30x4.0 =062n3
vy Y= FEETER 3.00x1,0x2 = 6,00 2 HEED3 4x2 <88
EXLE R 2.80%0.8x2 = 4.48 m2
avsY—F 6.00x0.15 =0.90m
WE (3.00+,00+1.00) x0.15x2 = 1.5 n2
wEa@ =45m
B OB M =60m
ERBE 600020 =1.20m 10-25 &/ HokiEmT (115.0)
B & wE = 1/3
£ % ERHHEEE
& BUHKE REXR BRIF
fi8 R 1:100




FEE

s=1:100

VY1) — FEETER
(35043, 58) x 1/2x 1,0+ (3, 70+3, 62) x1/2 1.0 = 7.20 m2

® @ @
(3.30+3,38) x1/2 0, 8+ (3, 5043, 42) x 1/2x0,8 = 5. 11 m2

avH Y=t 1.20x0.15 =1.08m3
g

(3.50+1, 00+1,00+3, 7041, 00+1,00) x 0. 15= 1.7 n2
BHER =5.4m

-1 =1.2m

ZBBE 1.20x0.20 =1.44m3

7 ]

1800

HkEEnT

5=1:100

EL=725.65
AEAMT

DL=725. 00

#5332 1) — FUZEI#300A L=50m

83853 >4 1 — FURBIAI00A L=5.0n
TL—FUTE 5K

E L& L 0.52x0.03x5.0 = 0.08 nd
E# B E 0.52x0.30x5.0 =0.78m

180.0

300A §=1:30
m:‘sx!ﬁﬁx!ﬁﬂ 1000 520 1000
300
00 10f 00
—“ r bt 4 —“
g 12
g ERBE s
_BELDS (FA)
MmO FOMFEER

HELDS 4x2 =8 %

=6 x 150 x 150

8% #B150m "—1 RSB

BRN]
B
PR

SEAHNTT

T

A=2,

2.00

SEAMT
aft L=20m
SEADTER

1.2x0.6%2.0x0.95 = 1.4 m3

40m2

10-25 &R HKigEHMT (180.0)

B 4 woE R 2/3
£ % ERHHEEE

& BUHKE REXR BRIF
8 R 1:100




BaA T BETY FT

v, 0.008
AUBEHA THED i BEE e 7mE wmEl
5
A4 T : ‘ } 5
BIRE () —BEL BIZE F) 27U HRET ARBEHAT
0.10~0.12 0.1
0.10 0.10
LD S5 KR
himx RE2m (7ke/H)
FEH 4007 R KR P o g
2
S
.21 § Wi 2
4y 0.40 0.50 0.40 o
30024 - Pun—ty
0.21 ; E (9% 200mm)
% = HETY b
[] ;| o) o g himx E&m (7ke/H0)
200! Q 33 aen o
2
< = g
- %o S “
- 0.50
BETHTATAEEKT 5HREERITS
FER 7
] 8 8 ] 8 b g ——
= - = < +3
AEET<FiE BTy b
g mimx&&E2m (7ke/#0
S| 0.45 (9% 200mm)
2 < S — =B
. i — o FUh—EY  $9x200m
<
S 9 D=10mm 10m4- Y HEBES
p L] B - Fik ARF | W@ | W =
8 HWETY b | R0 hinxREMEMELAY [+13% | 11.3 m | EERRICEYOREOREET>THEEL
o - Fuh—EY (69 % 200mm) 63.0 *
s Ty FOBLRELHS TONEERRLTHEEN, 10-22 &R
10m% Y P
31 wis s wga] i B % ® & B 3/3
< BELTOS| 0.6x0.4@FH | 100] & [HEFIE0.5x0.3x0.1n E 2 ERFHERE
=] i T | 0=10m L=0.46n | 400| & | 4KEER
it 160 3 [BUEIRR & W BLHE BEXE HRIE
0.21 i R 1:20




iy

L/

1:200

10-25 &

B % hotE = 1/1
£ % ERHFHEEE

& W RLE REXR RRIE
® R 1:200




BILHE BEXR R #
BBEER o J SN Q | A { lew
@ ' FFFH H=
1=48.0 m . OV” al A /) /N
W=3.60 m NS/ L=48.0m
7% o s ||\ | % | @ | & ||| 8| %[0 x
: s L s . R | ® g% |E % |m| =
7.2 % [ CEPZpE #1555 5 U FUHR i e Iy B A § B\ ﬁ g{ B\ R )R 2
= 3008 L=5. 0m 300C L=5.0m *g ﬁ Ea ﬁ
Bl AR ®| R
9.0 %
70 m
) @), @ :
o
Q
N \
. &
R AN
N[ D 1 N 1A - RO\ | st | e | B | mc | e | NEwo 1022
o n P R w w n w w w n W | #p-0.0 NS@EHR 0.0 ~ 480
1| 4 | ieas | 5.8 160 | 18.9 | 1.3 | 3.6 | 7.6 | 1.2 | 30.0 | 111 2 | = @ e
2 | a1 | 16927 | 1033 70 | 65 | 03 | 129 | 3.7 | 4.2 | 49.6 | 43.2] 480 /
3 6.5 £ % ERHHEEE
& BUHE BHEXE  BRIE
® R | 1:200




- BUHERBIR
B E | anEEg 750,00
Z & L=48.0 m _|
2ma 1=3.60 m
. —| 1ISEH L=48.0m
s A 7 %
/Ej = ] . .
. B $8 7.2 % | 3‘{]‘5@:‘,_‘:57_%_*@”7* ’?o?c’f:?_ﬁm_*"ﬂm ASAT
F o1y 9.0 % 745. 00| b S 2
T - e ) )
¥ @ _ ; | —
7//
— %
740.00
B
T:2 ]
DL=735.00
4 = 20,108 2 ~ P
BH g 2 g g iz - g3
o g g
i g = 3 i EE 23
o p g 2 g ge gz g2
E | E] g § ¢ E E e 1SEHF 0.0 ~ EP48.0
% g . _ . - g g N B & | iR 1/1
. b ° 2 b i £ % ERFHEEE
1P.1 1P.
Fotlo o £ M | BUKE BEXS HATE
# R | #1:100 41200




0.20 ki

3 B
€
LB
w
BEBET t=10cm

# % B/ 1/1

ERHHEEE

BLME REXER BRIFE

AR R

1:50




88320 1) — FUREIAI0B L5, 0m

2.0 2.1

L= 1.4

$3=0.5
$= 1.2 BA= 1.5
BA= 0.5
26.0 Wi
#5322 Y — PUERHI00C L=5.0m
T U—F LT Bl 08
11.24G1)
0.21

5= 0.1

BA= 0.5
1NS&EmR 0.0 ~ 28.7
B & R 1/2
£ % ERHHEEE
& BUHKE REXR BRIF
fi8 R 1:100




DL=743. 00

36.7(8C2)

$3=0.6
BA= 1.0

30.0(ECI
0.3

$3=0.7
BA= 1.1

DL=744. 00

DL=744. 00

43,2 (42

BA= 0.4

0.0

3= 1.1
BA=0.3

L(Y=0.1

48.0(EP)
0.00

L(S3)= 1.8

EC1 30.0 ~ EP 48.0

R 2/2

ERHHEEE

BLME REXER BRIFE

AR R

1:100




FEE

7 ]

s=1:100

5=1:100

EL=740. 19
SEANT

DL=740. 00

#5725 Y — FUZBEE3008 L=5.0n
TL—FLIE AR

E LS L 0.52x0.03x5,0 = 0.08 13
EHRBE 0.52x030x50 =078m3

Y5 Y— FBEIER 3.00x1.0x2 = 6,00 n2

® @@ R

avsy—+
B# (3.00+1.
FEEA
[ 3 3
RRHE

2.80x0.8x2 = 4.48 m2

6.00x0. 15 =0.90 m3
00+1.00) x0.15x2 = 1.5 m2
=45m
=6.0m2
6.00%0.20 =1.20 m3

Hk

B m

5=1:30

®=6x 150 x 150

_EELOS (FE)

BEEDS 5x2 =10 &

12
g
znsn
520
SEAHNTT
1.20
8# @8 15cn i/w
_E®H
SEAnT
~~~~~~ ] &t =200
EX

"
1.2%0,6x2.0%x0.95 = 1.4 13

WEYBET

$=1:100

7.0
BEE2—L%F HPP600 L=T.In

0. 10n2

V=0.10x 7. Im=0, 71n3
M=(7.1/2.43) x 660 = 1928kg
(600 W=660ke/2. 43n)

B

EE RRER
BIE 1.2%0.6x2
EE 0.6x2.0
att

NE&R  HKEENT (2.6)

B 4 wE = 1/3
£ % ERHHEEE

& BUMREREXR HEIE
8 R 1:100




FEE

s=1:100

EC.1_R=140

L

DL=742. 00

EL=742.47

Y5 Y— FBEIER 3.00x1.0x2 = 6,00 n2

& @@ R 2.80x0.8x2 = 4.48 m2
aVHY—h 6.00x0,15 =0.90 m3
B (3.00+1.00+1.00) x0.15x2 = 1.5 m2
BEeM =4.5m
B O 8 =6.0m
E@BE 6.00x0.20 =1.20 m3

5=1:100

B=M251 sty

#5725 U — FUZEEE3000 L=5.0n
TL—FLIE AR

E LS L 0.52x0.03x5,0 = 0.08 13
EHRBE 0.52x030x50 =078m3

Hk

=6 150 x 150

00 150

_EELOS (FE)

B m

BEEDS 6x2 =12 %

$=1:30
1000 520 1000 m:‘5x|50x|50
300
00 104 00 1
—“ r bt 4 —“ F
18
HUBE g
| RERE
520
_AEANTT

20

I
8# @8 15cn i/w

T

SEADE RTEH
&t L=20m BE RRER
SEADCHE BIE 1.2x0.6x2
1.2x0,6%2.0x0,95 = 1.4 13 L‘ﬁ x2.0

MEMHET

1:100

287
Ea—LE HPHE0 L=6.9m

A=0. 1072

V=0, 106, 9m=0, 69n3
11=(6.9/2.43) x660 = 187dkg
(PB0OTE W=660ke/2. 43m)

NSEA  HKEENT (26.0)

B 4 wE = 2/3
£ % ERHHEEE

& BUHKE REXR BRIF
8 R 1:100




BaA T BETY FT

v, 0.008
AUBEHA THED i REE e 7mE wmEl
5
A4 T : ‘ } 5
BIRE () —BEL BIZE F) 27U HRET ARBEHAT
0.10~0.12 0.1
0.10 0.10
LD S5 KR
himx RE2m (7ke/H)
FEH 4007 R KR P o g
2
S
.21 § Wi 2
4y 0.40 0.50 0.40 o
30024 - Pun—ty
0.21 ot (9% 200mm)
0-21, S : > 200m)
% = HEY b
[] ;| o) o g himx E&m (7ke/H0)
200! Q 33 aen o
2
< = g
- %o S “
- 0.50
BETHTATAEEKT 5HREERITS
FER 7
] 8 8 ] 8 b g ——
= o = < +3
LT R
g mimx&&E2m (7ke/#0
S| 0.45 (9% 200mm)
2 < S — =B
. i — o FUh—EL  $9%200m
<
S 9 D=10mm 10m4- Y HEBES
p L] B - Fik ARF | W@ | W =
8 HWETY b | R0 hinxREMEMELAY [+13% | 11.3 m | EERRICEYOREOREET>THEEL
o - Fuh—EY (69 % 200mm) 63.0 *
= .
3 Ty FOBLRELHS TONEERRLTHEEN, e
10m% Y P
31 wis s ] i B % ® & B 3/3
< BELTOS| 0.6x0.4@FH | 100] & [HEFIE0.5x0.3x0.1n E 2 ERFHERE
=] i T | 0=10m L=0.46n | 400| & | 4KEER
it 160 3 [BUEIRR & W BLHE BEXE HRIE
0.21 i R 1:20




